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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt

of this question paper.

§S)

Attempt any 5 questions out of 6 questions.
3. All questions carry equal marks.
4. Each question has an internal choice.

5. Answers must be based upon the provisions of the
Income Tax Act, 1961.

6. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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1. Explain the difference between tax planning and tax

avoidance with the help of some examples.
Or

Mention any eight adjustments required to be done in
the net profits for the purpose of computing book

profits under section 115JB. Also explain the concept

of MAT credit.
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What factors are required to be considered from tax

planning point of view if a decision has to be taken to

start a new business cither as a firm or as a company.

Or

X Ltd. is interesting in expansion of its production
capacity for which purpose it requires Rs. 1.50,00,000.

The company has the following options available for

this purpose :

Particulars

Option A (Rs.)

Option B (Rs.)

Option C (Rs.)

Equity share capital

30,00,000

40,00,000

20.00.000

Debentures @ 8%

50.00,000

80.00,000

40,00,000

Loan @ 12%

70.00.000

30.00.000

—

90.00.000

Total

1.50.00.000

1.50.00.000

1.50.00.000

Profits before interest and taxes are expected to be

15%. The tax rate of the company is to be assumed
as 30% (including surcharge and cess). Which of the

option is considered as the best option from tax

planning point of view?
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gl IR guit 80,00,000 60,00,000 50,00,000
10% T AR goit 10,00,000 30,00,000 20,00,000
R @ 8% 20,00,000 20,00,000 40,00,000
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od 1,30.00.000 1,30,00.000 1.30.00.000
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Y Ltd. needs a machinery of Rs. 12,00,000 for

manufacturing a component in its factory. The
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company can purchase it from own funds. Another
option available with the company to purchase it is
from borrowed money. In this case, the company has
to pay only Rs. 2.00.000 as down payment and
remaining Rs. 10.00.000 will be arranged through
loan i@ 10% p.a. Interest will be payable at year end

and the principal will be repaid at the end of 10

vear.

The useful life of the machine is 10 years. The
company can claim depreciation under section 32 @
15% p-.a. The machine will be sold for Rs. 15,000 at
the end of 10™ year. The tax rate of the company is
to be assumed as 30% (including surcharge and cess).
The cost of capital is 10%. The present value of Rs.
1 at 10% 1is:

! Year 1 2
PV | 909| .826 |.751 |.683 |.621 |.565 | .513 | .467 | .424 | .386
(0.10)
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Which of the option is better in this case?

Or
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What factors arc required to considered from tax
(e
planning point of view if a decision regarding repair

of an asset or replacing the asset is to be taken?
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0.10)

T AR A - T Jeaw 27



686 7

a

afe ol wReuf 9 wewm o qRegafy @) weaY B @y

ﬁ‘ﬁﬁuﬁmm%,ﬁmﬁuﬁa%?ﬁaﬁm%ﬁwm
R O9R & smawmes 27

What conditions need to be satisfied to claim relief

from double taxation under section 917

Or

A Ltd. (an Indian company), sells an electronic item
to its 100 per cent subsidiary, X Ltd. in United States
@ $80 per piece. A Ltd. also sells the same electronic
item to another company, Y Ltd. in United States @
$110 per piece. Total income of A Ltd. for the
assessment year 2021-22 is Rs. 40,00,000 which
includes sales made for 90 pieces of this electronic
item @ $80 per piece to X Ltd. What will be the
total income of A Ltd. for the purpose of payment of
income tax in India? The rate of one dollar may be

assumed to be equivalent to Rs. 60 for the sake of

simplicity.

P.T.O.



686 8
g 91 & dEd AR FAUE A TEA W e FH & forg

%mﬁaﬁ@aﬂ%aﬁm%?
AT

A R (Tw @ F00), @gE a5d SRR X g
100 Wiwg ge@s wa, X fifids &t $80 wfa 9| &t =
¥ TE ToEcie ImEew = Bl A fofids d@gwm uw
SARFT ¥ v =g waAl, Y ffids &t $no ufy fe & =
¥ TF & FoEciHe IMgeH Juar ol FuRe a¥ 2021-22
3 fog | fafds & & 319 = 40,00,000 2 o X fefies
I 3@ godCl-h 3MgeH & 90 W & forw 80 Sfer Wi di&
&t fash TR 21 YR ¥ gER & WA & 321 9 A
fafts & wd @ = BEN? I & fow ve SieR @t
W 60 T & ISR AT o el o

Define amalgamation under section 2(1B). Also
mention the provisions of section 72A regarding carry
forward and set-off of non-speculative accumulated
business loss and unabsorbed depreciation allowance

in case of amalgamation.

Or
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Explain the provisions of transfer of assets between

polding and subsidiary company.
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6. Explain any two methods of computation of arm’s

length price.

Or

(a) Explain the concept of tax planning with reference

to receipt of insurance compensation.

u determine the residential status of

(b) What do yo

companies?
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